(700) AtgHl 2 & . (710) GgHlE Mg o (711) =23 2 : (206) =4l (49 @ &)
1t = J| 2| = 3| < _
5 NS = Of &F oA oAb o = 2 o At = J| =
st
= A 32,426,073 26,259,051 6,167,022
H 21,549,987 20,327,252 1,222,735
10
e llul =2 21,547,987 20,325,252 1,222,735
711
=2 F 6,001,402 5,900,802 100,600
200
=29 3| 6,001,402 5,900,802 100,600
206
MEZH| 5,092,974 5,104,374 A 11,400
48,180 59,580 A11,400 |01 BT =4I
O =Z2A JIA Y (HAOlEZ2 E)
<A AE>150,000& x 128 -<J| &>450,000& x 128 = A 3,600
O +=ZFA Al I (&M E)
<A AE>100,000& x 128 -<J|&8>450,000& x 128 = AN4,200
O HED sAYM HiX ¢
<ZdE8>100,000& x 122 -<J| 8>400,000& x 12&8 = A 3,600
214
=M XA HI 601,525 489,525 112,000
320,350 300,350 20,000 (05 JIEtW AHIY]
O 2EHHLE 2MX2 4 01852(1, 28K) =TEHIZ A
<Z &>20,000,000& x 1A -<I|H>0& = 20,000




(700) A= & . (710) GgHlE Mg o (711) =L 34 2 (214) =88 XA (&t @ &S
i = J| & 2 _ _
LIS = G &9 Ol AF oH = & 3! & = /| =
281,175 189,175 92,000 (06 Al & & Hl S XlH|
O SEHdE=H JIHANEE 835+
<A EAE>4,000,000% x QM A—<I|E>0& = 36,000
O sEdEx=F &I, SAANE2 ==+
<A &E>4,000,000& x QM A<D E>0R = 36,000
O SedEx& Y2 ESAId &%
<Z &>20,000,000& x 1A -<I|H>0& = 20,000
713
o - 24| 3,269,143 2,603,143 666,000
200
=29 3| 3,250,143 2,584,143 666,000
201
U BI2 A 264,948 258,948 6,000
111,806 105,806 6,000 [01 AFR 22|l
O EAXNY (28 ,92%,2d2x) HaZs & SEUNE THda
<Z &>300,000& x 123 -<IJ| H>0& = 3,600
O EAXNSE OISt 22ES s
<Z&E>100,000& x 29 x 123 <J|&>0& = 2,400




(700) ArHIE & (710) 2 AHIS Mg o (713) B - 2=t £ @ (213) WEEE] (

i
40
Pl
40

n = ) g

L Ol AF oM = &l Ab = 9| =
@kﬂg = N I TR 1! = &3 o = = -
213
mE=otesila] 1,000 0 1,000
1,000 0 1,000 |O?I & =4 <A E>100,000 x 5% x 23| -<I| H>0& = 1,000
214
Ea R =INImbs Il 2,599,635 1,940,635 659,000
438,000 324,000 114,000 (02 Aot EZ WA HI

,000,000& x 124 & 114,000

1,857,750 | 1,312,750 545,000 (05 DI Et DA b
O 2EAZFI| ol&
<2 E>800,0002 x 700& ~<J| H>800,0008 x 3507 = 280,000
O LSNP o BB 34V $42I2(EFET T
<21 5>800,000 x 30074 2-<7| H>800,0008 x 20074 & = 80,000
O w44X XNE S2=27(R+8 MWL) 130,000
- 80mmOI Gt B4 LAYX (TH=T T
<21 5>350,000 x 70074 2-<7| H>350,0008 x 50074 & = 70,000
- 24 U S5 WZ(ZTIED TH)
<23F>300,0002 x 70004 2-<J| H>300,0008! x 5000 & = 60,000




(700) AMHHIES gt Mg o (713) 8 - S3=tl S (214) =KX LAY cel o AMA)
o 3 3| . -
@kﬂ% =2 & = A OH 4 o &t = Il =
O A& M=t B L BSE 24
<A AE>500,000& x 100 A~ -<I| &>500,000 x 604 2 20,000
O A& H=H 2 28 i =4
<Z &E>3,000,000& x 150 2~-<2J|&>3,000, 000 x 1070 A~ 15,000
O L& A58 L A8ERAE WA =
<A AE>2,000,000& x 30 A~-<J| &>2,000, 000 x 204 A~ 20,000
717
= - &= Z2At| 936,400 535,700 400,700
200
293l 936,400 535,700 400,700
231
A AE B A 801,400 400,700 400,700
801,400 400,700 400,700 ME >CHBSAHSEALALY) 270,900
- 13mm <& &>530,000& x 2008 -<J| &>530,000& x 100& 53,000
- 20mm <& &>580,000& x 1008 -<J| &>580,000& x 50 29,000
- 2bmm <& &E>610,000& x 2008 -<J| &>610,000& x 100& = 61,000
- 32mm <Z 8>630,000& x 408 -<J| H>630,000& x 20& 12,600
- 40mmE &>1,020,000& x 208 -<J| &>1,020, 000& x 10X 10,200




(700) ArHIE g (710) ggHIE Mg (717) 2 - =3 Attl S 1 (231) A& 3 A (et @ &R
@Hlﬂ% = = o4|a+<;“;:&§§-c_g§id & & ] =

- 50mm & &>1,100,000& x 208 -<J| &>1,100,000& x 10M = 11,000

- 80mm <& &>3,200,000& x 16&-<J|&>3,200,000& x8& = 25,600

- 100mm & &>4,200,000& x 148 -<J1 &>4,200,000& x 78 = 29,400

- 150mm & &>5,300,000& x 108 -<J| &>5,300,000& x5& = 26,500

- 200mm <& &>6,300,000& x 4&8-<J| &>6,300,000& x 28 = 12,600

O HE 2THZA BHPL(SHAAAL) 129,800

- 13mm <Z&E>210,000& x 200&-<J1&>210,000& x 100& = 21,000

- 20mm <& &E>260,000& x 1008 -<J| & >260,000& x 508 = 13,000

- 25mm <Z&F>285,000& x 2008 -<J| &H>285,000& x 100& = 28,500

- 32mm <Z &>320,000& x 408 -<J| &>320,000& x 20& = 6,400

= 40mm <Z &>620,000& x 208 -<J| &>620,000& x 10& = 6,200

= 50mm <Z &>680,000& x 208 -<J| &8>680,000& x 10& = 6,800




(700) AtgHl 2 & . (710) GgHlE Mg - (717) 3 - B2 Akdl 2 (231) A& ZAHY] (49 @ &)
2t = Il €l =z _ s = =
5 NS = Of &F oA oAb o = 2 o At = J| =
- 80mm <& &>1,100,000& x 16&-<J|&>1,100,000& x8& = 8,800
- 100mm& &>2,100,000& x 14&-<J| &>2,100,000& x7& = 14,700
- 150mm& &>3,200,000& x 108 -<J| &>3,200,000& x58 = 16,000
- 200mm <& &>4,200,000% x 4&-<J| &>4,200,000& x2& = 8,400
751
e el s ] 6,331,656 6,282,821 48,835
100
o1z 2| 3,546,161 3,478,921 67,240
101
Ol 24 H| 3,343,001 3,279,301 63,700
185,553 121,853 63,700 (02 DJI|EIE 2 £
O =28
<Dod§>2,884,5009\:l><35§X12%—<7|§>2,769,300%XZJ‘§>< 37,378
128 =
O 3z2+<
<?§§>103,842,000%X0.5X1/6—<7|§'>66,464,000%760.5 3,115
X 1 =
O HIAFZE AN2Q 2R (24A2tDUH22R)
<AE>8,591& x 3Y x 40A12F x 128 -<J| &E>8,221& x 2& x 4,479
40A12Ex 128l =




(700) ArHIE & (710) 2 AHIS Mg (751) ekateld £ @ (101) el2H] (

i
40
Rl
40

o = /| gl 2 s = .
O HYIE Ot 2R (24AN2DUH2R)

<HE>2,8643 x 1H X 8AI 2t x 3652 -<I| &E>2,740& X 1& x 362
8AIZt x 3652 =

O BAPE SYDLLT(SU2HX)
<BE>69,0563 x 3 x 1302 -<J[ &E>66,082% x2& x 130 9,750
O &< <& &>3,000,000&-<J| &>2,280,000 = 720
O dZ2+=EiHe=3 <& &E>4,440,000& -<J| &>2,880,000 = 1,560
O HoiZ Ay
<8 38>130,000& x 3% x 1228 -<J| E>130,000& x2& x 12& 1,560
O &SIty
<?§§>103,842,000%X0.6X1/6—<3|’§>66,464,OOO%1;<60.6 3,738
X =
O HItE 2l
<& &>103,842,000& x 1/12x 1/30x 10&-<J| &> 1,038
66,464,000& x 1/12x 1/30%x 10& =
106
2| 173,160 169,620 3,540
93,480 92,220 1,260 |02 XS 2=
o-F

<dE>105,000& x 38 x 128 -<J| E>105,000& x 2& x 12& 1,260




2t (700) AtIHIE gk (710) ¥HIE2 Mg (751) Letael 2 @ (106) XL AH| (ctel @ &
ot = | gl z _ s = .
73,080 70,800 2,280 |03 EXMARLEHAH
O RIASAMZSIA(LELR)
<FH>80,0008 x 48H x 122 -<J| &H>80,000& x 46H x 12& 1,920
O ZIUAESAZRA(FFE)
<AXN>30,000 x 3% x 122 -<J| &E>30,0002 x 2% x 128 = 360
200
29| 2,017,366 1,996,543 20,823
201
B2 A Y 143,638 123,338 20,300
132,146 111,846 20,300 |01 AbRZ2ld]
O ABLETAES FALXZ(1E) 20,300
=C 0 NRA (15 176.45m)
<ZA>7,100,0002 x 13| -<I|H>0 = 7,100
- MG S A D (3S 245.29m)
<ZA>8,000,0002 x 13| -<I|AH>0 = 8,000
AGHE T AFG S EA 2 (35 157m)
<P AE>5,200,0002 x 13| -<I| H>0 = 5,200




(700) AtgHl 2 & . (710) GgHlE Mgt o (751) Lerae|d] 2 : (202) O4Hl (49 @ &)
1t = J| 2| = 3| < _
5 NS = Of &F oA oAb o = 2 o At = J| =
202
o d| 37,251 36,978 273
1,368 1,095 273|106 M =ZuW=J|20{0]
O 3¢ dEE2US
<BE>273,600F x5YH-<J|&>273,600& x4Y = 273
213
nE=a| 1,250 1,000 250
1,250 1,000 250 1O 32| 932 us /A2
<Z 8>250,000& x5 —<J|&>250,000& x4Y = 250
300
AAOIA 768,129 807,357 N39,228
301
ot A= 8,751 1,551 7,200
8,751 1,551 7,200 |12 JIEIE &3
O GUSHE 4522 HUAET AI2E X2
<HA>3,000,0008 <J|&E>0& = 3,000
O AYE A2 TAEMNSAMLRZ2HUH HAEX =AB4
<F&E>4,200,0003 -<J|&E>0& = 4,200




(700) AtHBIE & . (710) ¥dHlE N& : (751) Letate|d] S : (303) ZAS (et @ =&
ot = 2 €l 2 _ 3 : ;
@H|§ = ol & eH o AF on = 24 o A = J| =
303
ZIAM3 126,100 180,193 54,093
126,100 180,193 A54,093 |02 a2
O a2 <838>126,100,000& -<J] &>180, 193,000& = 54,093
304
Ha2RHaZ S 633,278 625,613 7,665
529,830 523,401 6,429 |01 H3RYZ
O §3RE3 S(YWE, 8) 4,672

<& &>3,193,680,000& x 7%-<J| &>3, 155,495,000 & x 7% = 2,673

<Z&E>3,193,680,000& x 4.868%<J| &>3, 155,495,000 & x 1,859
4.868% =
- ExsgRel
<& &>3,193,680,000& x 4.6029%-<J1 8>3, 155,495,000 & 1,757
x4.6029% =

<Z&E>3,193,680,000& x 0.119%-<J| F>3, 155,498,(1)(1)8/% X 140




(700) AtgHl 2 & . (710) ¥dHlE N& : (751) Letate|d] S 1 (304) 222 S (ctel @ &3
o = pJ | 5 5 . j
= = A = =
@HIQ = ol & eH o AF o = 2o oM Al |
103,448 102,212 1,236 |02 =0UALEERE S
O QAL LI (P HY)
<& &>3,198,680,000& x 3.04%<2| 8>3, 155,495,000 & x 1,160
3.04% =
O Loy estEsga (et 34)
<A AE>97,088,000& x6.55%<J| &8>95,928,000& x6.55% = 76
752
s Y =202 487,036 480,436 6,600
200
23 ZH| 208,036 201,436 6,600
207
o N Y] 6,600 0 6,600
6,600 0 6,600 |02 & AHJHEHH]
O 4otz 2Uted® HAZz Y 2
<Z&>6,600,000& x 1A -<J|E>0& = 6,600




2 ¢ (200) MHEHIE 8 1 (280) REXAMFHS Mg : (234) =8 S @ (401) AlZHIYROHI el HE)
ot = | €l =z _ s = .
200
A=HA = 10,876,086 ,931,799 4,944 287
230
HREMAFHS 6,372,010 ,639,010 733,000
234
2== 4,526,010 , 793,010 733,000
401
AEHI X2 4,526,010 , 793,010 733,000
4,526,010 ,793,010 733,000 |01 Al&HI
O C=ti=2 WHSA 275,000
- =dEgAD FH S +2 w3 AHD=200mm, L=240m)
<& &>500,000& x 240m-<J| E>0& = 120,000
- 8Y28 SLRSUMSZEEZHH S AH(D=100mm, L=310m)
<& &>500,000& x 310m-<J| E>0& = 155,000
O Ez3t=X d3s€E Wi £X 40,000
- ds ASEX EX
<Zd&>10,000,000& x4 2-<I|&E>0& = 40,000
O 8527 2FIML AL (0=50mm, L=1.6km)
<& &>170,000,000& x 1A -<J|H>0& = 170,000
O BT S4TE o A WAZ ZASY
<& &E>22,000,000& x 1A-<J|H>0& = 22,000




(200) NMH=2HX= & @ (230) REXAFHE Mg (234) =S £ ¢ (401) AIEHIZL 20 (etel © &

= E = e P &t = | E
O 2, U= S dHSAHEE=EHD) 216,000
- EY28 25x58 1 FH(D=100mm, L=120m)
<Z E8>450,000& x 120m-<J| E>0& = 54,000
- 5 M= AIF S (D=100mm, L=230m)
<Z &8>450,000& x 230m-<J| H>0& = 103,500
- RYs SIEME =4 (0=80mm, L=130m)
<Z E>450,000& x 130m-<J| H>0& = 58,500
O ATRD OIS&2E EHHZ2AH(EZAA) 10,000
- HAMOIIIE =3 22 HU|I AL (D=100mm, L=46m)
< E>%H|l 10,000,000& x 1A-<I|H>0& = 10,000
290
DN S ONECESPNES 231,862 0 231,862
291
MYHXZ2 dtst 231,862 0 231,862
751
gtat =2 231,862 0 231,862
231,862 0 231,862 |01 =18x3Ltse3
O AYE ARE =T AIE JNSFAY Bt 2
= HI<E E>224,024,670x 1A -<J|E>0& = 224,025




(200) NMH=HX= & ¢ (290) JIEtX=AHX = Mg (291) 382X 3 g £ @ (751) grets (et @ H

i’ 2 J| & o 3 - ~
= = Al = =
5 E = of &b oH o & o 2 2 o Al = ]
O MASE 2SS NEXAANG a2
=H|I<H E>7,836,680x 1A <I| &> = 7,837
800
Ol H] B 4,272,214 292,789 3,979,425
801
Ol 5] B 4,272,214 292,789 3,979,425
801
ollgl bl 4,272,214 292,789 3,979,425
4,272,214 292,789 3,979,425 |O 0oldlbl 22l
<HA>4,272,214,000% <IJ| & >292,789,000& = 3,979,425




